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1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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(1)80m? =[_Jem?

(2) 1070000 cm? = |m?

(3) 450000 cm? = |m?
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1m?2 = 10000 cm?

(1) 80 m? = 800000 cm?
(2) 1070000 cm? = 107 m?
(3) 450000 cm? = 45 m?
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90000 m? = | lha = | la =] | km?
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1km? = 100 ha = 10000a = 1000000 m2
90000 m2 = 9 ha = 900a = 0.09 km?
H] 7tof] S0z £22] -2 9 4+ 900 + 0.09 = 909.09 Y Y T}




@ 330a = 3.3ha
® 540000 m? = 54 ha

® 1.7km2 = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?2
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56 km? = 5600 ha = 560000 a




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?
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D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
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@® 540g°] 100008+ 5.4 t Pt
@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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@ 30t 7190kg © 37290kg
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GRE FLAIA vl F YT 25 kg 02 IX]H
@ 37190 kg

© 37290 kg

© 38000 kg

@ 37980 kg

I2tA ©, @, ©, 99 «L & FHE YT




11. SFE2 13t 7HA A
9l 5122 9 A7t

© A olnu
= T MR
A 4 A FaA L

> g A

dzjHlol8 7t syt FA7F T0ke

1.3t = 1300kg
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1km? = 100 ha = 10000a = 1000000 m?
3km x 6km = 18 km? 18km? = 1800 ha = 180000a
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308 ha
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3.08 km?
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(AreFe]E9] Hol)

= (1800 + 2600) x 1400 + 2 = 3080000 m?

1km? = 100 ha = 10000a = 1000000 m? ]2 &
3080000 m? = 30800a = 308 ha = 3.08 km? Y t}.




@ 240a =2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @3140 a=3.14ha

® 3500000 m? = 3.5km?

@ 3140a = 31.4ha
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@D 480000 m?2 @) 4.8 km?2
® 4800a @ 48ha

® 4800000000 cm?

(BB ] Hel)
= 600 x 800 = 480000( m?)
— 480000 m? = 4800 a = 48 ha = 0.48 km?
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da = 400m? °]|B &
400 + 50 x 2 = 16(m)
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120 X 120 + 2 = 7200( m2)= 7200 m? = 72a
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80 x 35 = 2800( km?)
= 2800 km?2 = 280000 ha
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2000 x 400 + 2 = 400000 m?
= 4000a + 40a = 100(7H)
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1t = 1000kg ©]2 2 1000 + 20 = 50(7H)
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26 x 250 = 6500(kg) = 6.5(t)
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®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t
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7= @ x 60

U= 190 x 90 = 17100 m?

7} 1}4=2.37ha = 23700 m?2 |2 &
@ x 60 4 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110( m)
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g7l 5kg <1 A 200 1S} FA=
5 x 200 = 1000( kg) YU tt.

30kg A2 AAE Ae 5 Y BAE
2500 — 1000 = 1500( kg) YU}
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1500 + 30 = 50(7) YU ek,
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5t = 5000 kg

Atk 100 AES] FA 30 x 100 = 3000( kg)
v 50 AFAFe] T 1 5000 — 3000 = 2000( kg)
B 1 AFzke] B 1 2000 + 50 = 40( kg)
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Y=(E 2] PAF)x1.5 =4 x 1.5 = 6(+t)

V=& AAE)%0.8 = 6 x 0.8 = 4.8(t)
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(60 + 30) x 150 =+ 2 x 2 = 13500( m?)

13500 m? = 135a
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= (800 + 1400) x 2000 =+ 2 = 2200000( m?2)
2200000 m? = 22000 a

whebA] (@ ARl 7Hd % Sl o] Hol)
= 22000 + 50 = 440( a)
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2t = 2000 kg = 2000000 g

2'6—’] /\El = 1:7] "14°H

2000000 + 400 = 5000( L) <] HIZ-&Eo] "o g},
5000( L) o] BI5H=E9] 7A=

5000 x 1.05 = 5250( kg) = 5.25(t) AU ct.
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(Ata+e] F FA)= 25 x 30 = 750( kg)

(¥ 2] F F-A1)= 2500 — 750 = 1750( kg)

(B & A2 FA)= 1750 + 50 = 35(kg)

(A A= vl o] AR} 42)= 1400 + 35 = 40(AFA)
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